Stones to Kilograms

Name: Class:

Fill in the correct numbers.
Take 1 stone = 6.35 kg and round your answers off to the nearest hundredth.

3 stones = kg 0.3 stones = kg
6 stones = kg 11 stones = kg
8 stones = kg 1.6 stones = kg
0.2 stones = kg 12 stones = kg
1.5 stones = kg 0.03 stones = kg
0.5 stones = kg 2.16 stones = kg

If 1 stone = 6.35 kg, 1 kg equals 1/6.35 = 0.16 stone

50kg = stones 1.8 kg = stones
100 kg = stones 10.8 kg = stones
200 kg = stones 70kg = stones
120 kg = stones 20.3 kg = stones
170 kg = stones 25kg = stones
260 kg = stones 166 kg = stones
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Answers

Fill in the correct numbers.
Take 1 stone = 6.35 kg and round your answers off to the nearest hundredth.

3 stones 19.05 | kg 0.3 stones 191 | kg

6 stones 38.1 | kg 11 stones 69.85 | kg

8 stones 50.8 | kg 1.6 stones 10.16 | kg

0.2 stones 1.27 | kg 12 stones 76.2 | kg

1.5 stones 9.53 | kg 0.03 stones 0.19 | kg

0.5 stones 3.18 | kg 2.16 stones 13.72 | kg

If 1 stone = 6.35 kg, 1 kg equals 1/6.35 = 0.16 stone

50 kg 7.87 | stones 1.8 kg 0.28 | stones
100 kg 15.75 | stones 10.8 kg 1.7 | stones
200 kg 31.5 | stones 70 kg 11.02 | stones
120 kg 18.9 | stones 20.3 kg 3.2 | stones
170 kg 26.77 | stones 25 kg 3.94 | stones
260 kg 40.94 | stones 166 kg 26.14 | stones
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